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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question, Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed
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e Sirs | eS| s $ Sy, | oSy | At dynamic equilibrium

Reaction can :{:-L"ﬂ;:i;: sl <
no longer be Speeds of | The amount | The reaction
forward and freactant
reversed reverse O FEREIORIS stops to
reactions | and products proceed
are equal are equal
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Na,;Si10, CaO Na(Cl Ca(Cl,

| Which one of the salts is used to dry a gas?
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Condensation | Resonance | Catenation | Isomerism | The ability of carbon atoms to form chain is called
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Silk Nylon Wool Cotton Which one of the following is 2 synthetic fibre?
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Propane Ethene Glyoxal Oxaliﬁ acid | Oxidation of ethene with KMnO,4 produces
Glycol Glycol _
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Glucose Sucrose Cellulose Starch Photosynthesis process produces
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Normally rain water is weakly acidic due to the gas
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O, NOx 5O, CO; Global warming causes rising of sea ":-J;« ] ujf
level, The cause of global warming is
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11 Km 30 Km 15 Km 35Km | About 99% of atmosphere’s mass lies within
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Quick lime LLime water | Na, zeolite Soda lime Permanent hardness is removed by adding
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Hepatitis Cholera Jaundice Typhoid one of the following diseases causes liver inflammation
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Crude oil 1s heated in furnace upto

1027 - 1022-55000 (1)

450 °C 400 °C 350 °C 300 °C




